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सामान्य निर्देश:    

1.प्रश्न पत्र में छह खंड शामिल हैं - ए, बी, सी, डी, ई और एफ। प्रश्न पत्र में 37 प्रश्न हैं। सभी 

प्रश्न अनिवार्य हैं.   

2.खंड ए - प्रश्न 1 से 20 तक प्रत्येक 1 अकं के बहुविकल्पीय हैं।  

3.खंड बी - प्रश्न संख्या। 21 से 24 तक अति लघ ुउत्तरीय प्रश्न हैं, प्रत्येक 2 अकं का है। प्रत्येक 

प्रश्न का उत्तर 40 शब्दों से अधिक नहीं होना चाहिए।  

4.खंड सी में 25 से 29 तक लघ ुउत्तर प्रकार के प्रश्न हैं, जिनमें से प्रत्येक के लिए 3 अकं हैं। 

प्रत्येक प्रश्न का उत्तर 60 शब्दों से अधिक नहीं होना चाहिए।  

5.खंड डी - प्रश्न संख्या. 30 से 33 तक दीर्घ उत्तरीय प्रश्न हैं, प्रत्येक 5 अकं का है। प्रत्येक प्रश्न 

का उत्तर 120 शब्दों से अधिक नहीं होना चाहिए।   

6.खंड-ई - प्रश्न संख्या 34 से 36 तक तीन उप प्रश्नों के साथ केस आधारित प्रश्न हैं और प्रत्येक 

4 अकं का है। प्रत्येक प्रश्न का उत्तर 50 शब्दों से अधिक नहीं होना चाहिए।  

7.खंड एफ - प्रश्न संख्या। 37 मानचित्र आधारित है, जिसमें दो भागों के साथ 5 अकं हैं, 37ए 

इतिहास से (2 अकं) और 37बी भगूोल से (3 अकं) है।  



8.प्रश्न पत्र में समग्र रूप से कोई विकल्प नहीं है। हालाँकि, कुछ प्रश्नों में आतंरिक विकल्प प्रदान 

किया गया है। ऐसे प्रश्नों में से केवल एक विकल्प का ही प्रयास करना चाहिए।  

9. दृष्टिबाधित अभ्यर्थियों के लिए दृश्य इनपटु, मानचित्र आदि वाले प्रश्नों के स्थान पर एक 

अलग प्रश्न उपलब्ध कराया गया है। ऐसे प्रश्नों को केवल दृष्टिबाधित विद्यार्थियों द्वारा ही हल 

किया जाना है। इसके अतिरिक्त, जहां भी आवश्यक हो, प्रत्येक अनभुाग और प्रश्न के साथ 

अलग-अलग निर्देश दिए गए हैं। 

General Instructions:    
1. The question paper comprises Six Sections – A, B, C, D, E and F. There are 

37 questions in the Question paper. All questions are compulsory.   

2. Section A – From questions 1 to 20 are MCQs of 1 mark each.  

 3. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, 

carrying 2 marks each. Answer to each question should not exceed 40 words.  

 4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 

marks each. Answer to each question should not exceed 60 words.  

 5. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 

marks each. Answer to each question should not exceed 120 words.   

6. Section-E - Questions no from 34 to 36 are case based questions with three 

sub questions and are of 4 marks each. Answer to each question should not 

exceed 100 words.  

 7. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 

37a from History (2 marks) and 37b from Geography (3 marks).  

 8. There is no overall choice in the question paper. However, an internal choice 

has been provided in few questions. Only one of the choices in such questions 

must be attempted.  

9. A separate question has been provided for visually impaired candidates in lieu 

of questions having visual inputs, maps etc. Such questions are to be attempted 

by visually impaired students only. In addition to this, separate instructions are 

given with each section and question, wherever necessary. 



(भाग-ए)SECTION-A  

बहुविकल्पीय प्रश्न)MCQs (20x1=20) 

 

1- लोकतांत्रिक सरकार वाले देश के नागरिक के रूप में, कौन से उपाय प्रभावी ढंग से सत्ता की 

साझदेारी सनुिश्चित करेंगे और सरकार की किसी भी शाखा को परू्ण शक्ति प्राप्त करने से रोकें गे? 

निम्नलिखित में से कौन सा उपाय इस लक्ष्य को सर्वोत्तम रूप से परूा करेगा?​ ​ (1) 

ए- कें द्र सरकार के पास सारी शक्तियां होती हैं और सभी मामलों में अतंिम अधिकार होता है। 

बी- शक्ति को कें द्र सरकार और राज्य/प्रांतीय सरकार, सरकार के बीच विभाजित किया गया है, 

प्रत्येक स्तर पर प्रभाव के अपने अलग-अलग क्षेत्र हैं। 

सी- सरकार की शक्ति को विधायी, कार्यकारी और न्यायिक शाखाओ ंमें विभाजित किया गया है, 

प्रत्येक की अलग-अलग जिम्मेदारियां और अधिकार हैं। 

डी- सत्ता सरकार के कई स्तरों के बीच साझा की जाती है, प्रत्येक स्तर के पास कुछ हद तक 

स्वतंत्र निर्णय लेने की शक्ति होती है। 

As a citizen of a country with a democratic form of government, what measures 

would effectively ensure power sharing and prevent any branch of government 

from having absolute power? Which of the following measures would best meet 

this goal?​ ​ ​  

 

A- The central government holds all power and has ultimate authority in all 

matters. 

B- Power is divided between central government and state/provincial 

government, government, with each level having its own distinct areas of 

influence. 

C- The power of government is separated into legislative, executive and judicial 

branches, each with distinct responsibilities and authority. 



D- Power is shared among multiple levels of government, with each level, 

possessing some degree of independent decision making power.  

 

 

2- मान लीजिए आप एक लेख पढ़ रहे हैं। यह लेख गांधीजी के सत्याग्रह के विचार पर आधारित 

है। लेकिन लेख में छोटी-मोटी त्रटुियाँ हैं। सामाजिक विज्ञान के एक उत्सकु अध्येता के रूप में 

आप उन त्रटुियों की पहचान कीजिये​ ​ ​ ​ ​ ​

​ (1) 

I-सत्याग्रह के विचार में सत्य की शक्ति और सत्य की खोज की आवश्यकता पर बल दिया गया। 

II- वमैनस्य की अपील करके भी उत्पीड़क को जीता जा सकता है। अत्याचारी को सत्य का दर्शन 

कराना चाहिए। 

III- इस विचार ने सझुाव दिया कि यदि कारण सत्य है, यदि संघर्ष अन्याय के विरुद्ध है, तो 

उत्पीड़क से लड़ने के लिए शारीरिक बल आवश्यक नहीं है। आक्रामक होकर या उसके बिना भी, 

सत्याग्रही यदु्ध जीत सकता है। 

कोड 

ए- केवल II 

बी- I और II 

सी- I और III 

डी - II और III 

Suppose you are reading an article. The article is based on Gandhi’s idea of 

Satyagraha. But the article has minor errors. As a keen learner of social science 

identify those errors. 

I- The idea of Satyagraha emphasized the power of truth and the need to search 

for the truth. 



II- one can win the oppressor even by appealing to the disharmony. Oppressor 

should be made to see the truth. 

III- This idea suggested that if the cause was true, if the struggle was against 

injustice, then physical force was not necessary to fight the oppressor. With or 

without being aggressive, the Satyagrahi could win the battle.​ ​  

Codes 

A- Only II 

B- I and II 

C- I and III 

D- II and III 

 

3- जिला परिषद पर निम्नलिखित कथनों पर विचार करें और नीचे दिए गए उद्धरणों का 

उपयोग करके उत्तर का चयन करेंI​ ​ ​ ​ ​ ​

​ (1) 

I- जिला परिषद भारत में पंचायती राज व्यवस्था का सबसे निचला स्तर है। 

II- जिला परिषद सभी ब्लॉक समितियों की गतिविधियों का समन्वय करती है। 

III- जिला परिषद के अधिकांश सदस्य निर्वाचित होत ेहैं। 

IV- जिला परिषद अध्यक्ष जिला परिषद का राजनीतिक प्रमखु होता है। 

ए- I और II 

बी- II और III 

सी- I, III और IV 

डी- II, III और IV 

Consider the following statements on Zila Parishad and select the answer using 

the quotes given below-​ ​ ​ ​ ​ ​ ​ ​  

I- Zila Parishad is the lowest tire of the Panchayati Raj system in India. 

II- Zila Parishad coordinates the activities of all the block samitis. 

III- Most members of the Zila Parishad are elected. 



IV- Zila Parishad chairperson is the political head of the Zila Parishad. 

A- I and II 

B- II and III 

C- I, III and IV 

D- II, III and IV 

 

4- नीचे दिए गए प्रश्न में, दो कथन अभिकथन (A) और कारण (R) के रूप में चिह्नित हैं। कथन 

पढ़ें  और सही विकल्प चनुें: 1 

अभिकथन (A) - आर्थिक क्षेत्र में, भारत में कृषि गतिविधि सबसे बड़ी है। 

कारण (R) - इसकी दो-तिहाई आबादी कृषि गतिविधियों में लगी हुई है। 

विकल्प 

ए- A और R दोनों सत्य हैं, और R, A की सही व्याख्या है। 

बी- A और R दोनों सत्य हैं, लेकिन R, A की सही व्याख्या नहीं है। 

सी-A सही है और R ग़लत है। 

डी- A और R दोनों ग़लत हैं 

In the question given below, there are two statements marked as Assertion(A) 

and  

Reason (R). Read the statement and choose the correct option: 

Assertion : (A)- In the economic sector, agricultural activity is the largest in India. 

Reason : (R)- Two-thirds of its population is engaged in agriculturalactivities. 

Options 

(a) Both A and R are true, and R. is the correct explanation of A. 

(b) Both A and R are true and, but R is not the correct explanation of A. 

(c) A is correct and R is Incorrect. 

(d) Both A and R are incorrect 



5- भारतीय अर्थव्यवस्था में, तीन क्षेत्र (प्राथमिक, द्वितीयक और ततृीयक) एक-दसूरे पर निर्भर 

हैं। हालाँकि, प्राथमिक क्षेत्र में रोज़गार की हिस्सेदारी ऊँची बनी हुई है। इसके लिए सबसे उपयकु्त 

स्पष्टीकरण यह हो सकता है:​ ​ ​ ​ ​ ​ ​  (1) 

I- सरकारी नीतियां प्राथमिक क्षेत्र को प्राथमिकता देती हैं। 

II- भारतीय अर्थव्यवस्था मखु्यतः कृषि प्रधान है और अधिकांश जनसंख्या कृषि पर निर्भर है। 

III- प्राथमिक क्षेत्र में काम जारी रखने के लिए लोगों के लिए अपर्याप्त सेवा क्षेत्र की नौकरियाँ। 

IV- प्राथमिक क्षेत्र द्वितीयक और ततृीयक क्षेत्र के लिए कच्चा माल उपलब्ध कराता है। 

सही विकल्प चनुें-: 

ए- केवल I और II सत्य हैं। 

बी- केवल II और III सत्य हैं। 

सी- केवल III और IV सत्य हैं। 

डी- सभी सत्य हैं। 

In the Indian economy, the three sectors (primary, secondary, and tertiary) are 

interdependent. However, the share of employment in the primary sector remains 

high. Most appropriate explanation for this could be:​ ​ ​ ​  

I- government policies preferentially treat the primary sector. 

II-The Indian economy is largely agrarian and the majority of the population is 

dependent on agriculture. 

III- inadequate service sector jobs for people to continue working in the primary 

sector. 

IV- primary sectors provides raw material for the secondary and tertiary sector. 

Choose the correct option-: 

A- Only I and II are true. 

B- Only II and III are true. 

C- Only III and IV are true. 

D- All are true. 



 

6- भतूापीय ऊर्जा के लिए निम्नलिखित में से कौन सा सत्य है?​ ​ ​ (1) 

ए- प्रायोगिक परियोजनाएँ पगुा घाटी, लद्दाख में स्थापित की गई हैं। 

बी- राजस्थान की अरावली पर्वतमाला में इसके छोटे-छोटे भंडार हैं। 

सी- यह उन क्षेत्रों में विकसित होता है, जहां तापमान कम होता है। 

डी- ये ख़त्म होने वाले पारंपरिक ईंधन के अच्छे स्रोत हैं। 

 

Which of the following is true for geothermal energy?​ ​ ​ ​  

A- Experimental projects are set up in Puga Valley, Ladakh. 

B- Aravalli ranges of Rajasthan have small reserves of it. 

C- It develops in regions, where there is low temperature. 

D- They are good sources for exhaustible conventional fuels. 

 

7- निम्नलिखित छवि फिगारो, वियना से जर्मन रीचस्टैग (संसद) में किस व्यक्तित्व का एक 

व्यंग्यचित्र है? पहचानिये I ​ ​ ​ ​ ​ ​ ​ (1) 

Following image is a caricature of which personality in the German Reichstag 

(Parliament) from Figaro, Vienna. Identify.​ ​ ​ ​ ​ ​  

 

 

ए- किग विक्टर एमानएुल द्वितीय 

बी- ओटो वोन बिस्मार्क  



सी- ग्यसेूप माज़िनी 

डी- ग्यसेूप गैरीबाल्डी  

A- King Victor Emanuel II 

B- Otto one Bismarck 

C- Giuseppe Mazzini 

D- Giuseppe Garrybaldi 

 

नोट: निम्नलिखित प्रश्न Q.7 के स्थान पर केवल दृष्टिबाधित उम्मीदवारों के लिए है 

Note: The following question is for Visually Impaired Candidates only in 
lieu of Q.7 

18वीं सदी के अतं में पोलैंड का क्या हुआ? निम्नलिखित में से कौन सा कथन सही है? ​  

ए- पोलैंड ने 18वीं शताब्दी के अतं में स्वतंत्रता प्राप्त की। 

बी- पोलैंड परूी तरह से रूस के नियंत्रण में आ गया और रूस का हिस्सा बन गया 

सी - पोलैंड परू्वी जर्मनी का हिस्सा बन गया। 

डी- हॉलैंड का विभाजन 18वीं शताब्दी के अतं में तीन महान शक्तियों, रूस, प्रशिया और 

ऑस्ट्रिया द्वारा किया गया था। 

What happened to Poland at the end of 18th century? Which of the following 

statement is correct? 

A- Poland achieved independence at the end of the 18th century. 

B- Poland came totally under the control of Russia and became part of Russia 

C- Poland became the part of East Germany. 

D- Holland was partition at the end of 18th century by three great powers, 

Russia, Prussia, and Austria. 

8- निम्नलिखित तालिका का अध्ययन करें और निम्नलिखित प्रश्न का उत्तर दें - ​​ (1) 

​ भारत: भारत में कपड़ों का उत्पादन 



स्रोत- कपड़ा आयकु्त कार्यालय, मुंबई, आर्थिक सर्वेक्षण, 2011-12। 

 भारत के कपड़ा उत्पादन क्षेत्र के बारे में दी गई जानकारी के आधार पर, किस क्षेत्र का ग्रामीण 

रोजगार और विकें द्रीकरण पर महत्वपरू्ण प्रभाव पड़ने की संभावना है? 

ए- मिल सेक्टर 

बी- पावरलमू (होजरी में)  

सी- हथकरघा 

डी- अन्य 

Study the following table and answer the question that follows –​ ​  

​ India: Production of Fabrics in India 

Source- Office of textile commissioner, Mumbai, Economic Survey, 2011-12. 

क्षेत्रक  2009-10 2010-11*(अतंिम) 

मिल क्षेत्रक  3.3 3.5 

पावरलमू ( होज़री में ) 84.1 84.1 

हथकरघा  11.3 11.1 

अन्य  1.3 1.3 

कुल  100% 100% 

Sector 2009-10 2010-11*(provisional) 

Mill Sector 3.3 3.5 

Power looms( in 

Hosiery) 

84.1 84.1 

Handlooms 11.3 11.1 

others 1.3 1.3 

Total 100% 100% 



 Based on the information provided about India’s textile production sector, which 

sector is likely to have a significant impact on rural employment and 

decentralization? 

 

A-​ Mill Sector 

B-​ Power looms (In Hosiery)  

C-​ Handlooms 

D-​ Others  

9- निम्नलिखित का मिलान करें-​ ​ ​ ​ ​ ​ ​ (1) 

कोड 

ए- ए-1, बी-3, सी-2 

बी- ए-2, बी-1, सी-3 

सी- ए-3, बी-2, सी-1 

डी- ए-2, बी-3, सी-1 

सचूी I सचूी II 

 

A- शिराएँ और परत 1- निक्षेपण और संचय के 

परिणामस्वरूप बनने वाले खनिज 

B- बेड और परतें 2- दरारें और गुहाओ ंके भरने से बनने 

वाले खनिज 

C- सतही चट्टानों का अपघटन 3- चट्टानों के अपक्षय के माध्यम से 

बनने वाले खनिज। 



Match the following-​​ ​ ​ ​ ​ ​ ​  

Codes 

A-​ A-1, B-3, C-2 

B-​ A-2, B-1, C-3 

C-​ A-3, B-2, C-1 

D-​ A-2, B-3, C-1 

10- निम्नलिखित में से कौन सा कारक वशै्वीकरण की प्रक्रिया में महत्वपरू्ण योगदान देता है? 

सही विकल्प चनुें. ​ ​ ​ ​ ​ ​ ​ ​ ​ ​

(1) 

1. बहुराष्ट्रीय निगमों (एमएनसी) का विस्तार।  

2. सचूना एवं संचार प्रौद्योगिकी में प्रगति।  

3. राष्ट्रीयकरण और व्यापार बाधाएँ।  

4. नौकरियों और शिक्षा के लिए लोगों का सीमा पार आवागमन।  

विकल्प:   

ए- कथन 1 और 2 उपयकु्त हैं।   

बी- कथन 1, 2 और 3 उपयकु्त हैं।  

List I List II 

A-​ Veins and lodes 1-​ Minerals formed as a result of 

deposition and accumulation 

B-​ Beds and layers  2-​ Minerals formed by the filling of 

cracks and cavities 

C-​ Decomposition of surface rocks 3-​ Minerals formed through the 

weathering of rocks. 



सी-कथन 2, 3 और 4 उपयकु्त हैं  

डी-केवल कथन 3 उपयकु्त है। 

Which of the following factors significantly contribute to the process of 

globalization? Select the correct options. ​ ​ ​ ​  

1. Expansion of Multinational Corporations (MNCs).  

2. Advancements in information and communication technology.  

3. Nationalization and trade barriers.  

4. Cross-border movement of people for jobs and education.  

 

Options:   

A- Statements 1 and 2 are appropriate.   

B- Statements 1, 2 and 3 are appropriate.  

C-Statements 2, 3 and 4 are appropriate  

D-Only statement 3 is appropriate 

 

11- यएूनडीपी 2018 की मानव विकास रिपोर्ट के अनसुार देशों की एचडीआई रैंकिग नीचे दी गई 

है​ ​ ​ ​ ​ ​ ​ ​ ​ (1) 

देश रैंक 

श्रीलंका 78 

भारत 120 

पाकिस्तान 150 

नेपाल 149 

 

2018 की मानव विकास रिपोर्ट में श्रीलंका की रैंक भारत से बेहतर क्यों है? 

ए- श्रीलंका की प्रति व्यक्ति आय भारत से अधिक है 



बी- श्रीलंका की जनसंख्या भारत की तलुना में कम है। 

सी- साक्षरता अनपुात अर्थात श्रीलंका में सभी स्तरों के स्कूलों में नामांकन अनपुात भारत की 

तलुना में बेहतर है। 

डी-ए और सी दोनों 

According to the human development report of UNDP 2018, the HDI ranking of 

countries are mentioned below​ ​ ​ ​ ​ ​ ​ ​  

Country Rank 

Sri Lanka 78 

India 120 

Pakistan 150 

Nepal 149 

 

Why Sri Lanka has a better rank than India in human development report of 

2018? 

 

A- The per capita income of Sri Lanka is higher than in India 

B- Sri Lanka has low population as compared to India. 

C- The literacy ratio I.e. Enrolment ratio in all levels of schools in Sri Lanka is 

comparatively better than India. 

D-Both A and C  

 

12- निम्नलिखित घटनाओ ंको कालानकु्रमिक क्रम में व्यवस्थित करें​ ​ ​ (1) 

I- कागज चीन से यरूोप पहंुचा 

II- चीन के बौद्ध मिशनरियों ने जापान में हाथ से छपाई की तकनीक पेश की। 

III- मार्को पोलो चीन से यरूोप में लकड़ी के ब्लॉक प्रिटंिगं तकनीक लाए। 

IV- चीन में लकड़ी के ब्लॉकों की स्याही वाली सतह पर कागज रगड़कर की जाने वाली छपाई। 



कोड- 

ए-IV,II, III, I 

बी- IV, II, I, III 

सी- III, II, IV, I  

डी- II, III, I, IV 

Arrange the following events in a chronological order-​ ​ ​ ​  

I- Paper reached Europe from China 

II- Buddhist missionaries from China introduced hand printing technology into 

Japan. 

III- Marco Polo brought wood block printing technology into Europe from China. 

IV- Printing done in China by rubbing paper against the inked surface of wooden 

blocks. 

 

Codes- 

A-​ IV,II, III, I 

B-​ IV, II, I, III 

C-​ III, II, IV, I  

D-​ II, III, I, IV 

13- प्रिया चेक जारी कर पसेै निकालना चाहती थी. चेक शब्द दर्शाता हैI​​ ​ (1) 

ए- बैंक द्वारा लिया गया ऋण। 

बी- जमाकर्ता द्वारा बैंक से लिया गया ऋण। 

सी- कागज, बैंक को एक विशिष्ट राशि का भगुतान करने का निर्देश देना। 

डी- कागज, विशषे रूप से केवल खाताधारक के खात ेसे पसेै निकालने के लिए मान्य है। 

Priya wanted to withdraw money by issuing a cheque. The term cheque denotes.​ 

A-​ Loan taken by the bank. 

B-​ Loan taken by the depositor from the bank. 

C-​ Paper, instructing the bank to pay a specific amount. 



D-​ Paper, especially valid to withdraw money only from the account holder's 

account. 

 

14- निम्नलिखित में से किस शब्द का उपयोग क्रमशः परुानी और नई जलोढ़ मिट्टी की पहचान 

करने के लिए किया जाता है?​ ​ ​ ​ ​ ​ ​ (1) 

ए- खादर एवं तराई 

बी- तराई और बांगर 

सी - बांगर और खादर 

डी- तराई और दआुर  

Which one of the following terms is used to identify the old and new alluvial soil, 

respectively?​​ ​ ​ ​ ​ ​ ​ ​ ​ ​  

A- Khadar and Tarai 

B- Tarai and Bangar 

C- Bangar and Khadar 

D- Tarai and Duars  

15- लोकतंत्र के आधार के रूप में किन मलूभतू मलू्यों पर प्रकाश डाला गया है?​ ​ (1) 

ए- आर्थिक समदृ्धि, और सामाजिक पदानकु्रम 

बी- लिगं, समानता और धार्मिक विश्वास 

सी- सम्मान और स्वतंत्रता के लिए जनुनू 

डी- सांस्कृतिक परंपराएं और ऐतिहासिक प्रभतु्व 

What fundamental values are highlighted as the basis of democracy?​  

A- Economic prosperity, and social hierarchy 

B- Gender, equality, and religious beliefs 

C- Passion for respect and freedom 

E-​ Cultural traditions and historical dominance 



16- भारत में निर्वाचित निकायों में महिलाओ ंका प्रतिनिधित्व सनुिश्चित करने के लिए कौन सी 

पहल लागू की गई है?​ ​ ​ ​ ​ ​ ​ (1) 

ए - महिलाओ ंको चनुाव लड़ने में प्राथमिकता दी जाती है। 

बी- परिणाम, महिलाओ ंके लिए सीटें स्थानीय सरकारी निकायों का 1/5 हैं। 

सी -संविधान यह सनुिश्चित करता है कि स्थानीय सरकारी निकायों में कम से कम एक तिहाई 

सीटें महिलाओ ंके लिए आरक्षित हैं। 

डी - महिलाओ ंको स्थानीय सरकारी निकायों में निर्वाचित प्रतिनिधियों के सलाहकार के रूप में 

नियकु्त किया जाता है। 

What initiative has been implemented in India to ensure women representation in 

elected bodies? 

A- Women are given priority in contesting in elections. 

B- Result, seats for women constitute 1/5 of local government bodies. 

C-The Constitution ensures that at least one third of seats in local government 

bodies are reserved for women. 

D-Women are appointed as advisers to elected representatives in local 

government bodies. 

 

17- फसलों के किस समहू को बाजरा के रूप में वर्गीकृत किया जा सकता है?​ ​ (1) 

ए - उड़द एवं अरहर 

बी- मक्का और गेहंू 

सी- बाजरा, और रागी 

डी- तिल और मूंगफली 

Which group of crops can be classified as millets?​ ​ ​ ​  

A- Urad and Arhar 

B- Maize and Wheat 



C- Bajra, and Ragi 

D- Sesamum and groundnut 

18- निम्न से कौन-सा उद्योग बॉक्साइट को कच्चे माल के रूप में प्रयोग करता है?       (1) 

A. एल्यमूिनियम 

B. कागज 

C. सीमेंट 

D. स्टील 

Which of the following industries uses bauxite as raw material? 

A. Aluminium 

B. Paper 

C. Cement 

D. Steel 

 

19- निम्नलिखित विकल्पों में से गलत कथन को पहचानें।​ ​ ​ ​ (1) 

I- संरक्षित वनों का स्वामित्व सरकार के पास है, लेकिन स्थानीय लोगों को जंगलों को गंभीर 

नकुसान पहंुचाए बिना ईंधन की लकड़ी इकट्ठा करने, मवेशियों को चराने की अनमुति है। 

II- संरक्षित वन भारत में कुल वन क्षेत्र का 1/5 हिस्सा हैं। 

III- हरियाणा, ओडिशा, पंजाब, बिहार, हिमाचल प्रदेश और राजस्थान में व्यापक संरक्षित वन हैं। 

कोड्स 

ए- केवल II  

बी- केवल III 

सी- I और II दोनों 



डी - II और III दोनों 

Identify the incorrect statement(s) from the following options.​​ ​  

I- protected forest are owned by the government, but the local people are allowed 

to collect fuel wood, grazing the cattle without causing serious damage to the 

forests. 

II- protected forest constitute 1/5 of the total forest cover in India. 

III- Haryana, Odisha, Punjab, Bihar, Himachal Pradesh and Rajasthan have 

extensive protected forests. 

 

Codes 

A-​ Only II  

B-​ Only III 

C-​ Both I and II 

D-​ Both II and III  

20- महान आयरिश आल ूअकाल (1845 से 1849) के दखुद परिणामों में से एक क्या था?​ (1) 

ए - आप्रवासन के कारण आयरलैंड की जनसंख्या दोगुनी हो गई। 

बी- भखेू बच्चों ने कटे हुए खेतों में बचे हुए आल ूकी खदुाई का सहारा लिया। 

सी - आयरिश सरकार ने भखुमरी को रोकने के लिए राहत प्रयासों को सफलतापरू्वक लागू किया। 

डी- अकाल ने मखु्य रूप से शहरी क्षेत्रों, आकांक्षी ग्रामीण समदुायों को प्रभावित किया। 

What was one of the tragic consequences of the great Irish potato famine (1845 

to 1849)? 

A-​ The population of Ireland doubled due to immigration. 

B-​ Hungry, children resorted to digging for leftover potatoes in harvested fields. 

C-​ The Irish government successfully implemented relief efforts to prevent 

starvation. 

D-​ The famine, primarily affected urban areas, aspiring rural communities. 

 

 



SECTION-B (खंड-बी) 

VERY SHORT ANSWER QUESTION (अति लघ ुउत्तरीय प्रश्न) (4x2=8) 

21- 19वीं और 20वीं शताब्दी के दौरान मदु्रण प्रौद्योगिकी में नवाचारों ने मदु्रित सामग्री के 

उत्पादन और वितरण को कैसे प्रभावित किया?​ ​ ​ ​ ​ ​ ​

(2) 

How did innovations in printing technology during the 19th and early 20th century 

impact the production and distribution of printed materials?​ ​ ​ ​

​ ​  

22- कारण बताएं कि ओडिशा में चावल को जीवन निर्वाह फसल क्यों माना जाता है?​ (2) 

Explain the reason Why rice is considered a subsistence crop in Odisha.​ ​  

​ ​  

23- एक लोकतांत्रिक सरकार की कुछ प्रमखु विशषेताएँ और परिणाम क्या हैं?​ ​ (2) 

What are some key characteristics and outcomes of a democratic government? 

 

24- साम्प्रदायिकता शब्द को परिभाषित करें।​ ​ ​ ​ (2)​  

Define the term communalism.​ ​ ​ ​ ​     ​      

SECTION- C (खंड-सी) 

SHORT ANSWER-BASED QUESTIONS (लघ ुउत्तरीय प्रश्न) (5x3=15) 

25- 70वीं शताब्दी तक, जसेै-जसेै चीन में शहरी संस्कृति विकसित हुई, प्रिटं के उपयोग में 

विविधता आई। उपयकु्त उदाहरण देकर कथन को स्पष्ट कीजिए।​ ​ ​ ​

(3) 

By the 70th century, as urban culture bloomed in China, the uses of print 

diversified’. Explain the statement by giving suitable examples.​ ​  

26- गहन औद्योगीकरण और शहरीकरण ने भारत में मौजदूा मीठे पानी के संसाधनों पर कितना 

बड़ा दबाव डाला है?​ ​ ​ ​ ​ ​ ​ ​ ​ (3) 



How have intensive industrialization and urbanization put a great pressure on 

existing freshwater resources in India? 

27- पंचायती राज ने भारत में लोकतंत्र को किस प्रकार मजबतू किया है? अपने विचार व्यक्त 

करें.​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​

(3) 

How has the Panchayati Raj strengthened the democracy in India? Express your 

views. 

अथवा Or 

भारत किस प्रकार के संघ के अतंर्गत आता है? ऐसे संघ की किन्हीं दो विशषेताओ ंका उल्लेख 

कीजिए। 

Under which type of Federation India comes? Mention any two features of such 

Federation. 

 

28- कोई तीन उपाय सझुाएं जिनके माध्यम से कृषि क्षेत्र में अल्परोजगार को कम किया जा 

सके।​ ​ ​ ​ ​ ​ ​ ​ ​ ​ ​ (3) 

 

Suggest any three measures through which underemployment in the agriculture 

sector can be minimized.​ ​ ​ ​ ​ ​ ​ ​ ​  

 

29- 'भारतीय बाजारों में वस्तओु ंका व्यापक चयन उपलब्ध है।' वशै्वीकरण के संदर्भ में उदाहरणों 

के साथ कथन का समर्थन करें। ​​ ​ ​ ​ ​ ​ ​ (3) 

‘A wide ranging choice of goods is available in the Indian markets.’ Support the 

statement with examples in context of globalization.​ ​ ​ ​  

 

(खंड-डी)SECTION- D                                       

(दीर्घउत्तरीय प्रश्न) LONG ANSWER-BASED QUESTIONS  (4X5=20) 



30- उन्नीसवीं शताब्दी के दौरान यरूोप में उदार राष्ट्रवाद के विचारों का परीक्षण करें।​     (5) 

Examine the ideas of liberal nationalism in Europe during the nineteenth century. 

 

31- भमूि निम्नीकरण की समस्या को हल करने के कई तरीके हैं। उदाहरण सहित कथन की 

पषु्टि कीजिये। ​ ​ ​ ​ ​ ​ ​ ​

​ (5) 

​ ​ ​ ​ अथवा  

विकासशील भारत के लिए संसाधन नियोजन एक महत्वपरू्ण भमूिका निभाता है। कथन को 

विस्ततृ कीजियेI​ ​ ​ ​ ​ ​ ​ ​ ​   

There are many ways to solve the problems of land degradation. Substantiate 

the    statement with examples. ​ ​ ​ ​ ​ ​  

Or 

For developing India resource planning plays a crucial role. Elaborate the 

statement. 

 

32- भारत जसेै लोकतांत्रिक देश में बहुदलीय प्रणाली की भमूिका का विश्लेषण करें ​

​ (5) 

​ ​ ​ ​ अथवा  

राजनीतिक दलों के सामने वंशवाद सबसे गंभीर चनुौतियों में से एक है। कथन का परीक्षण करें. 

Analyse the role of a multi-party system in a democratic country like India.​  

Or 

Dynastic succession is one of the most serious challenges before the political 

parties. Examine the statement.  

 



33-. "स्वयं सहायता समहू गरीबी को खत्म करत े हैं और महिलाओ ंको सशक्त बनात े हैं। 

उपयकु्त उदाहरणों के साथ पषु्टि कीजिए।​ ​ ​ ​ ​ ​ ​

​ (5) 

“Self-help groups eliminate poverty and empower women.” Substantiate with 

suitable examples 

 

(खंड-ई)SECTION-E  

(स्रोत -आधारित प्रश्न) CASE-BASED QUESTIONS (3X4=12) 

 

34- नीचे दिए गए स्रोत को पढ़ें  और निम्नलिखित प्रश्नों के उत्तर दें: ​ ​ ​ (4) 

“निष्क्रिय प्रतिरोध” के बारे में कहा जाता है कि यह कमज़ोरों का हथियार है, लेकिन जिस शक्ति 

का विषय इस लेख का विषय है उसका प्रयोग केवल ताकतवर ही कर सकता है। यह शक्ति 

निष्क्रिय प्रतिरोध नहीं है; वास्तव में, इसके लिए गहन गतिविधि की आवश्यकता है। दक्षिण 

अफ्रीका में आदंोलन निष्क्रिय नहीं बल्कि सक्रिय था...'सत्याग्रह कोई शारीरिक बल नहीं है। एक 

सत्याग्रही शत्र ुको पीड़ा नहीं पहँुचाता; वह अपना विनाश नहीं चाहता...सत्याग्रह के प्रयोग में, 

किसी भी प्रकार की दरु्भावना नहीं है। 'सत्याग्रह शदु्ध आत्मबल है। सत्य ही आत्मा का मलू तत्व 

है। इसीलिए इस बल को सत्याग्रह कहा जाता है। आत्मा को ज्ञान से अवगत कराया जाता है। 

इसमें पे्रम की लौ जलती है। अहिसंा परम धर्म है...' यह निश्चित है कि भारत हथियारों के बल पर 

ब्रिटेन या यरूोप का मकुाबला नहीं कर सकता। अगें्रज यदु्ध देवता की पजूा करत ेहैं और वे सभी 

हथियार धारक बन सकत ेहैं, जसेै वे बन रहे हैं। भारत में करोड़ों लोग कभी भी हथियार नहीं रख 

सकत।े उन्होंने अहिसंा के धर्म को अपना धर्म बना लिया है। अपनी प्रसिद्ध पसु्तक हिदं स्वराज 

(1909) में महात्मा गांधी ने घोषणा की कि भारत में ब्रिटिश शासन भारतीयों के सहयोग से 



स्थापित हुआ था और इस सहयोग के कारण ही वह जीवित रहा। यदि सहयोग करने से इंकार कर 

दिया गया तो एक वर्ष के भीतर ब्रिटिश शासन का पतन हो जायेगा। 

 

1. गांधीजी ने यह क्यों कहा कि निष्क्रिय प्रतिरोध कमजोरों का हथियार नहीं है? 

2. "सत्याग्रह शदु्ध आत्मबल है"। इस कथन को 20 शब्दों में सिद्ध कीजिए। 

3. महात्मा गांधी के अनसुार भारत में ब्रिटिश शासन को खत्म करने के लिए सबसे अच्छा 

हथियार क्या है? 

Read the given source below and answer the following questions:​  
It is said of “passive resistance” that it is the weapon of the weak, but the power 

which is the subject of this article can be used only by the strong. This power is 

not passive resistance; indeed, it calls for intense activity. The movement in 

South Africa was not passive but active ... ‘Satyagraha is not physical force. A 

Satyagrahi does not inflict pain on the adversary; he does not seek his 

destruction ... In the use of Satyagraha, there is no ill will whatever. ‘Satyagraha 

is pure soul force. Truth is the very substance of the soul. That is why this force is 

called Satyagraha. The soul is informed with knowledge. In it burns the flame of 

love. ... Non-violence is the supreme dharma ...’ It is certain that India cannot 

rival Britain or Europe in force of arms. The British worship the war god and they 

can all of them become, as they are becoming, bearers of arms. The hundreds of 

millions in India can never carry arms. They have made the religion of non- 

violence their own. In his famous book Hind Swaraj (1909) Mahatma Gandhi 

declared that British rule was established in India, with the cooperation of 

Indians, and had survived only because of this cooperation. If refused to 

cooperate, British rule will collapse within a year. 
 

1. Why did Gandhi say that passive resistance is not the weapon of the weak?   1 

2. “Satyagraha is pure soul-force”. Substantiate this statement in 20 words.         

1 



3. What according to Mahatma Gandhi is the best weapon to use to collapse 

British rule in India?​​ ​ ​ ​ ​ ​ ​ ​ ​         

2 

 

35- नीचे दिए गए स्रोत का अध्ययन कीजिए और नीचे दिए गए प्रश्नों के उत्तर दीजिए: 

सत्ता-साझाकरण व्यवस्था को राजनीतिक दलों, दबाव समहूों और आदंोलनों द्वारा सत्ता में बठेै 

लोगों को नियंत्रित करने या प्रभावित करने के तरीके में भी देखा जा सकता है। लोकतंत्र में, 

नागरिकों को सत्ता के विभिन्न दावेदारों में से चनुने की स्वतंत्रता होनी चाहिए। समकालीन 

लोकतंत्रों में, यह विभिन्न दलों के बीच प्रतिस्पर्धा का रूप लेता है। इस तरह की प्रतिस्पर्धा यह 

सनुिश्चित करती है कि सत्ता एक हाथ में न रहे। लंबे समय में, विभिन्न राजनीतिक दलों के बीच 

सत्ता साझा की जाती है जो विभिन्न विचारधाराओ ंऔर सामाजिक समहूों का प्रतिनिधित्व करत े

हैं। कभी-कभी इस तरह का साझाकरण प्रत्यक्ष हो सकता है जब दो या दो से अधिक पार्टियां 

चनुाव लड़ने के लिए सहयोगी होती हैं। यदि उनका गठबंधन चनुा जाता है, तो वे गठबंधन 

सरकार बनात ेहैं और इस प्रकार सत्ता साझा करत ेहैं। लोकतंत्र में हम व्यापारियों, व्यापारियों, 

उद्योगपतियों, किसानों और औद्योगिक श्रमिकों जसेै हित समहूों को देखत े हैं। सरकारी 

समितियों में भागीदारी के माध्यम से या निर्णय लेने की प्रक्रिया पर प्रभाव लाकर उनके पास 

सरकारी शक्ति में भी हिस्सा होगा। 

(1) 'सत्ता की साझदेारी लोकतंत्र का एक अनिवार्य घटक है“कथन को सिद्ध करने के लिए एक 

उदाहरण दीजिए। ​ ​ ​ ​ ​ ​ ​ ​ (1)                                             

(2)गठबंधन निर्माण किस प्रकार सत्ता के बँटवारे का एक उदाहरण है?                            

(1)​

(3) राजनीतिक दल, दबाव-समहू तथा आदंोलन सत्ता में बठेै लोगों को नियंत्रित करने अथवा 



प्रभावित करने में किस प्रकार सहायता करत े हैं?                            

(2)  

Read the source given below and answer the questions that follow: 
Power-sharing arrangements can also be seen in the way political parties, 

pressure groups, and movements control or influence those in power. In a 

democracy, the citizens must have the freedom to choose among various 

contenders for power. In contemporary democracies, this takes the form of 

competition among different parties. Such competition ensures that power does 

not remain in one hand. In the long run, power is shared among different political 

parties that represent different ideologies and social groups. Sometimes this kind 

of sharing can be direct when two or more parties ally to contest elections. If their 

alliance is elected, they form a coalition government and thus share power. In a 

democracy, we find interest groups such as those of traders, businessmen, 

industrialists, farmers, and industrial workers. They also will have a share in 

governmental power, either through participation in governmental committees or 

by bringing influence on the decision-making process. 

(1) 'Power sharing is an essential component of democracy.' Give one example 

to prove the statement.                                                                                                                        

(2) How is alliance building an example of power-sharing?                                                         

(3) How do Political parties, pressure groups, and movements help in controlling 

or influencing those who are in power?                                                                                               

 

36- नीचे दिए गए स्रोत को पढ़ें  और उसके बाद आने वाले प्रश्नों के उत्तर दें: देशों की तलुना करने 

के लिए, उनकी आय को सबसे महत्वपरू्ण विशषेताओ ंमें से एक माना जाता है। उच्च आय वाले 

देश कम आय वाले अन्य देशों की तलुना में अधिक विकसित हैं। यह इस समझ पर आधारित है 

कि अधिक आय का मतलब है कि मनषु्य को जिन चीज़ों की ज़रूरत है, वे सभी अधिक हैं। लोगों 

को जो कुछ भी पसंद है और उनके पास होना चाहिए, वे अधिक आय से प्राप्त कर सकें गे। 

इसलिए, अधिक आय को ही एक महत्वपरू्ण लक्ष्य माना जाता है। अब, किसी देश की आय क्या 



है? सहज रूप से, देश की आय देश के सभी निवासियों की आय है। इससे हमें देश की कुल आय 

का पता चलता है। हालाँकि, देशों के बीच तलुना के लिए, कुल आय इतना उपयोगी उपाय नहीं है। 

चूँकि, देशों की आबादी अलग-अलग होती है, इसलिए कुल आय की तलुना करने से हमें यह नहीं 

पता चलेगा कि एक औसत व्यक्ति कितना कमा सकता है। क्या एक देश के लोग दसूरे देश के 

लोगों से बेहतर हैं? इसलिए, हम औसत आय की तलुना करत ेहैं जो देश की कुल आय को उसकी 

कुल जनसंख्या से विभाजित करके प्राप्त होती है। औसत आय को प्रति व्यक्ति आय भी कहा 

जाता है। विश्व बैंक द्वारा जारी विश्व विकास रिपोर्ट में देशों को वर्गीकृत करने में इस मानदंड का 

उपयोग किया जाता है। 2019 में प्रति व्यक्ति आय 49,300 अमेरिकी डॉलर और उससे अधिक 

वाले देशों को उच्च आय या समदृ्ध देश कहा जाता है और प्रति व्यक्ति आय 2500 अमेरिकी 

डॉलर या उससे कम वाले देशों को निम्न आय वाले देश कहा जाता है। मध्य परू्व के देशों और कुछ 

अन्य छोटे देशों को छोड़कर अमीर देशों को आम तौर पर विकसित देश कहा जाता है। 

1-प्रति व्यक्ति आय के महत्व की व्याख्या करें।​​ ​ ​ ​ ​ (2) 

2. प्रति व्यक्ति आय के आधार पर देशों का वर्गीकरण क्या है, और इन वर्गीकरणों को निर्धारित 

करने के लिए कौन सी संस्था जिम्मेदार है? ​ ​ ​ ​ ​ ​ (2) 

Read the source given below and answer the questions that follow:  
 

For comparing countries, their income is considered to be one of the most 

important attributes. Countries with higher income are more developed than 

others with less income. This is based on the understanding that more income 

means more of all things that human beings need. Whatever people like, and 

should have, they will be able to get with greater 

income. So, greater income itself is considered to be one important goal. Now, 

what is the income of a country? Intuitively, the income of the country is the 

income of all the residents of the country. This gives us the total income of the 

country. However, for comparison between countries, total income is not such a 



useful measure. Since, countries have different populations, comparing total 

income will not tell us what an average person is likely to earn. Are people in one 

country better off than others in a different country? Hence, we compare the 

average income which is the total income of the country divided by its total 

population. The average income is also called per capita income. In World 

Development Reports, brought out by the World Bank, this criterion is used in 

classifying countries. Countries with per capita income of US$ 49,300 per annum 

and above in 2019, are called high income or rich countries and those with per 

capita income of US$ 2500 or less are called low-income countries. The rich 

countries, excluding countries of Middle East and certain other small countries 

are generally called developed countries. 

 

1-Explain the significance of per capita Income.​​ ​ ​ ​ ​  

2. What are the classifications of countries based on per capita income, and 

which entity is responsible for determining these classifications?”                           

​  

 

(खंड-ऍफ़)SECTION-F  

(मानचित्र कौशल आधारित प्रश्न )(MAP SKILL-BASED QUESTION (2+3=5) 

 

37- (a) भारत के रेखा मानचित्र पर दो स्थान A और B अकंित किए गए हैं। उन्हें पहचानें और 

उनके पास खींची गई रेखा पर उनके सही नाम लिखें।​ ​ ​ ​ ​ (1+1) 

A- सितंबर 1920 के कांगे्रस अधिवेशन से जडु़ा स्थान 

B- वह स्थान जहाँ गांधी ने भारत में अपना पहला सत्याग्रह आयोजित किया था। 

(a) Two places A and B have been marked on the outline map of India. Identify 

them and write their correct names on the line drawn near them.  

A- The place associated with the congress session of September 1920 ​ ​  

B- The place where Gandhi organized his first Satyagraha in India. ​​ ​  



नोट: निम्नलिखित प्रश्न केवल दृष्टिबाधित उम्मीदवारों के लिए प्रश्न 37 (a) के स्थान पर है। 

 

A. उस स्थान का नाम बताइए जहाँ किसान सत्याग्रह हुआ था 

B. उस स्थान का नाम बताइए जहाँ सितंबर 1920 में भारतीय राष्ट्रीय कांगे्रस का अधिवेशन 

हुआ था। 

Note: The following question is for Visually Impaired Candidates only in lieu of 

Question 37 (a).  

 A. Name the place where the Peasant Satyagraha took place   

B. Name the place where the Indian National Congress session was held in Sept 

1920. 

 



(b) भारत के उसी रेखा मानचित्र पर, निम्नलिखित में से किन्हीं तीन को उपयकु्त प्रतीकों से 

चिह्नित करें और लेबल करें। 

A- नोएडा सॉफ्टवेयर टेक्नोलॉजी पार्क  (1) 

B- तुंगभद्रा नदी पर स्थित एक बांध (1) 

C- चेन्नई में एक हवाई अड्डा (1) 

D- तारापरु परमाण ुऊर्जा संयंत्र (1) 

(b) On the same outline map of India, locate and label any three of the following 

with suitable symbols.  

A- Noida software Technology Park ​ ​ ​ ​ ​ ​ ​  

B- A dam located on Tungabhadra River ​ ​ ​ ​ ​ ​  

C-An airport in Chennai ​ ​ ​ ​ ​ ​ ​ ​ ​  

E-​ Tarapur nuclear power plant​ ​ ​ ​ ​ ​ ​ ​  

नोट: निम्नलिखित प्रश्न केवल दृष्टिबाधित उम्मीदवारों के लिए प्रश्न संख्या 37 (b) के स्थान 

पर है 

निम्नलिखित में से किन्हीं तीन के उत्तर दें। 

i - भारत में निर्मित सबसे ऊंचे बांध का नाम बताइए। 

ii - पश्चिम बंगाल में एक बंदरगाह का नाम बताइए। 

iii - झारखंड में कोयला खदान का नाम बताइए। 

iv - उत्तर प्रदेश में मौजदू सॉफ्टवेयर टेक्नोलॉजी पार्क  का नाम बताइए। 

Note: The following question is for Visually Impaired Candidates only in lieu of Q. 

No. 37 (b)  

Answer any three of the following. 

 i -Name the tallest dam built in India.   

ii - Name a seaport in west Bengal.   

iii - Name the coal mine in Jharkhand.  



iv - Name the Software Technology Park present in the state of Uttar Pradesh 

 


